
Abacus Representation 
 

1. Write the number shown on each Abacus. 
      a.        b. 

 

 

 

 

 

 
2. Draw the correct number of beads to match the number written below the abacus. 

      a.        b.  

 
 

 

 

 

 

 

3. Complete the number sentence for each Abacus. 
        a. 

 

 

 

 

 

  

23211 

Tth    Th        H        T        O 

 

Tth    Th        H        T        O 

Tth    Th        H        T        O 

52134 

Tth    Th        H        T        O 

23132 

Tth    Th        H        T        O 

20000 + 2000 + 500 + 30 + 1 



       b. 

 

 

 

 

 

 

 

 

  

  

20000 + 5000 + 200 + ____ + ____ 

Tth    Th        H        T        O 




